
A6.22 (mod 3)

blocks defect matrix

3.G : 1 3 13× 8
2 1 3× 2

6.G : 3 3 13× 8

Block 1: ϕ1,0 ϕ1,1 ϕ2,0 ϕ2,1 ϕ3,0 ϕ3,1 ϕ4,0 ϕ4,1

11 = χ1,0 1 . . . . . . .
12 = χ1,1 . 1 . . . . . .
101 = χ2+ 1 1 . . . . 1 1
81 = χ4,0 1 . . 1 . . 1 .
82 = χ4,1 . 1 1 . . . . 1
83 = χ5,0 1 . . . . 1 . 1
84 = χ5,1 . 1 . . 1 . 1 .
102 = χ7,0 . . 1 . . 1 . 1
103 = χ7,1 . . . 1 1 . 1 .

61 = χ14+ . . 1 1 . . . .
62 = χ15+ . . . . 1 1 . .

121 = χ16+ 2 2 . . . . 1 1
301 = χ18+ 1 1 1 1 1 1 2 2

ϕ1,0 = 11
ϕ1,1 = 12
ϕ2,0 = 31
ϕ2,1 = 32
ϕ3,0 = 33
ϕ3,1 = 34
ϕ4,0 = 41
ϕ4,1 = 42

Block 21, 22: ϕ5,0 ϕ5,1

91 = χ6,0 1 .
92 = χ6,1 . 1

181 = χ17+ 1 1

ϕ5,0 = 91
ϕ5,1 = 92



Block 3: ϕ6,0 ϕ6,1 ϕ7,0 ϕ7,1 ϕ8,0 ϕ8,1 ϕ9,0 ϕ9,1

85 = χ8+ 1 1 1 1 . . . .
86 = χ10,0 . . 1 . 1 . . .
87 = χ10,1 . . . 1 . 1 . .
88 = χ11,0 1 . . . . . 1 .
89 = χ11,1 . 1 . . . . . 1
104 = χ12,0 1 . . 1 . 1 . .
105 = χ12,1 . 1 1 . 1 . . .
106 = χ13,0 1 . 1 . . . 1 .
107 = χ13,1 . 1 . 1 . . . 1

122 = χ19+ . . . . 1 1 . .
123 = χ20+ . . . . . . 1 1
241 = χ21+ 2 2 1 1 . . 1 1
242 = χ22+ 1 1 2 2 1 1 . .

ϕ6,0 = 21
ϕ6,1 = 22
ϕ7,0 = 23
ϕ7,1 = 24
ϕ8,0 = 61
ϕ8,1 = 62
ϕ9,0 = 63
ϕ9,1 = 64


